PARTY N

1. Solve.

PRACTICE more exponents

1
a) 5= 625 o 9 fl=27%3 e 2% =—
2 5, Solve. ;
1 x—1 — 2rle+4d — [/
b) 42\: — 25—)4: d) 8,\'—| — »\3/% f) 42,\' — E n a) 49 7‘\/; d} 36 ( 1296)
Fx—4 __ 2x+2 —
2. Solve. Round your answers to three decimal places. b) 2 , x+_4 0.25 o 2 7=71
a) 2°=17 o 30(5%) = 150 9 5'7*=10 = _ \/g f 9=+l = g1 (27
b) 6= 231 4 210 = 40(1.5)° £ 6 =30 9 \% ) (27)
8. Solve for x.
a) 471+ 47 =160 d 107" — 10* = 9000
by 27 4+ 2* = 320 e) 3T +3" =30
o 272 —2"=96 f) 477 —4"=63
andwess
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1. a) 4 d) ?l
b) : e) —g
¢ — f) -1 5 a) l75 d) —4
2. a) 4088 d) 4.092 2 8. a)25 d 3
) 3.037 ¢ —0.431 b3 92 b) 6 e 1
o 1 f) 5.695 ) —4.75 f) 2 ¢ s f)0
1. Rewrite each expression in an equivalent form, and then evaluate.
2 57 9 36 o —121F
: 8 \7
b 11° d) 125 £) (2—7) 10. Solve.
a) 5Y=3125_ o 4*=16"""
2. Simplify each expression, and then evaluate. b) 4= 16V 128 d) 3% — 27

2 (3°)(3%)

b (—2)%(-2)7"

Simplify.
a) (2m)?

b) (aébi)—z
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1. a) L1 = L
5 25
b) 1

¢ V3ie=¢6

a) 37 = 2187
b) (—2)2 =4
o) 10° = 1000
a) 8w’

1
b} ﬂ:s&m

o) 4|«

10

106

(7977
7—1
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d)

9 (16x°)

d) V125 =5
¢) —VI2I = 11
f) (’}@)2:2
N8 4
d) 7* = 2401
€) 8%2 4
f) 41 =
d)x"'y
e) —dic?
f) x

10.
=2

11.

12.

9 (8)° 11. Solve. Express each answer to three decimal places.
(4) (4) ) 6 =78 o 8(3%) =132
& b) (5.4)° = 234 d) 200(1.23)* = 540

d

€) (—44)(£) 12. Solve.

b ((x3)_%)7

a) 4+ 6(47) =5
b) 8(57) +8(5) =6

c) —2

d v 9.5 oc =7
c) 2.553

d) 4.799



